RK&=1—K 122170543

B3390 LFAB/NFERE L

i

i &

B‘UCA

3 B 20224 (4% 58228 (B) oS L AR B
& 15 PRTEELERS NSyrEHE  : oNE B
BRIk : 172030) J—LREHE : EL B
T R HEELERGS R BB AT R
FEHAR— VIR LD
% B . SREEFET  FHh
FAHEEERESR
o CORETRITTANIR
22| mE |[508 = #® DL I (Eﬁ) fexoRE | =
47 | 6F100m | 7| 13843 | BAEREG6) | FHAC 13792 PO
%7 | 6&100m | RBS| 13842 | mAERR(G6) | FHAC 13792 PO
T | DNONA | R | 1778m | Bk Sike) || mEE 1451 o
* JFIURIF 4
Bl | RME |SR(C)|RE%)| B |mrms) Bzl | RIR |SBR(CCO)|BE(%)| FIE |mEm/s)
8:40| BN | 21.4| 55.0 =E 0.4 13:00| &N | 25.1 1 40.0( 4t 2.1
9:00| BN | 21.8 | 53.0 [=E4tE| 1.6 14:00| B&N [ 24.9|40.0 | dtF | 2.1
10:00| &N | 23.3 | 46.0| k& | 2.2
11:00| &N | 25.0| 42.0| k& | 2.4
12:00| BN | 26.4 | 38.0( dkE | 1.2
o I REBRICHIBRE0HA
O MBI X BTN _ R e




MyvIEH R hiE B

HEENE Bl
BTEENE &l E
(REfEE] 20224 ($F04%) 58228 (H) . SEREE B R—
(XEME] LEBEEEEHBE FRHRR—YHaREH R —Ex
(GR: X&=#1) x F [Fii5] FAHEE L 5555
145 2 i 3 4L 44 5L 6 fiL 7 L 8 fiL
A/8 g B R K% FE it HREEZE it HREEZE it HREEZRE it HREEZRE it HREEZFE it HREEZRE i HREEZFE i %
5/22 |INE64EE +1.2 3K EEE®6) 13. 42|31l £72 (6) 14.41BA (22 (6) 14. 77 KT &b (6) 14.81 182 X% (6) 14.86| b £ (6) 15.01 /4" 2275 (6) 15. 34 |#&K EMA (6) 15. 52
100m 1RIBAC GR|ALFRC i ALFRC FRiE ik 1] ALFRC ik 1]
5/22 |INFESE -0.2 &R ®WER(5) 14.65 dL/R W & (5) 14. 88| H %% () 14.94 R ## (5) 15. 13| B fIE (5) 15. 41 {##% BEF (5) 15.49 | @Ah 413 (5) 15.56 /My 1&ZE (5) 15. 62
100m ALFRC P& RE ALFRC FEWH ALFRC & 3 [EaEcds]
5/22 |INFALFE +3. 4 | IpFR EBE (4) 15.30 & 2E (4) 15.86 B #5xK (4) 15.97|E@ 2M4) 15.98|[FE EF 1) 16.01 #74t £im(4) 16.02 5 &%k 4) 16.13|dt/R £ 4) 16.15
100m #3 R il EHE mEE FEHTE EHE e
5/22 |INSE5-64E B 343k (6) 3:14.18 /M1l # IR (6) 3:25. 44| T #£(6) 3:31.08| BER Fi#=(6) 3:31.25| T& HE(6) 3:41.32 |18 MEf (5) 3:44. 48 F@A LE (6) 3:45.06 h#t BB ZE (5) 3:45.36
1000m P i R FREEE FIRAC 3 FIRAC HES B
5/22 |INS5-64F #]K FK(6) 17718 RE =1t (6) 1345 /3R EEHD (6) 1293 8RZE £ (6) 1138 #=¥ BF0(6) 853 8RB IEtH (6) 781 ILTF HLFE (5) 750 ith £ 448 (5) 680
aVINA U FA ik 1] GR| 78 & & ES /N iE=$lin:l RFHB =11 ==t
5/22 |/NEE5-64F MEE 7 (6) 1541/ 3L8 Z=% (6) 1414 %32 153 (6) 1340 KB 0B 5) 1237|558 Bl (6) 1195178 WEHHF (6) 1173 &8 &L 6) 1134 A& 1L (6) 1114
a2 /34 2~ KB 1R IBAC IES ES 1R IBAC m/NEF /MR EEWH HERTFC




INEGERTF

FE 5H22H [10.50
100 RES 58228 [13:45
m
EHFE/NFEAFE (SR 12.81 K& &H=E R JAC 2019/8/10
K6 (GR) 13.92 K HEE =H #24H
FiE BBEE 48 0% + 8 O IBLIEEBE q: 44 LIEEBE
[ 14A] RELE +2.4 [ 24A] RLE +1.1
IE| b-Y| No. KE 4 E& ik fw= | IE L-» No. K 4 E& o I ]
1 6/ 1281 KT ZEb(6) 14639 | 1 1 13771 &K HEE®) 13.43 g
/94 ' 4 ALFRC ah% &3 {FARAC REH
2 2] 1429=A 122 (6) 14.73 g | | 2] 5] 1282 4t/& =7 (6) 15.18 g
WqY 21 H iR &R 05 7%/ ALFRG
31 4 13523k =(6) 15.90 3 3] 1295 /% £%Z(6) 15.98
Y3IR bt Himm VT 3 HEmEE
41 1) 1297;&dE =t (6) 15.94 41 6 1329/EH BZE(6) 16.03
Y 74h ik wY9F 7t FHE
5 3] 1312/ b4t Z=2(6) 16.18 5 8 1343/41E |k (6) 16.08
thh5 +1 FAEE §4 0 T mNEF
6| 8 1361 @k BRI (6) 16. 84 6 4 1359 K{E 35 (6) 16.16
$4b #5% FHE A3 14% ik
707 1328 £l #ZE(6) 17.15 70 7 1313 &4 k3R (6) 16.18
e 4 FHE R Yvh7 EEh FIER
8 5| 1439 ARHE E(6) 17.75 81 2 14431F# BHARE(6) 17.20
I 4 3y) F38 Yhay TEH Eik
[ 3%A] [RLE +1.7 [ 4481 RELE +0.8
IE| b-Y| No. K 4 E& ik = | IE V- No. K E& o I ]
1 7] 1280 #7iL %=72= (6) 14.50 g | | 1] 6] 1296 158 % (6) 14.88 g
7547 3 ALFRC YD 7Y Frid
20 1) 1321#K EA(6) 15.29 g | | 2| 3] 1322 Frh BE(6) 14.92 g
9AER Wk FaEH YEHD 13 FAEH
3| 5 1358 =i® HEZ(6) 15. 38 3| 5 1431\ EF(6) 15.39
9 bt FHE 7 F Uk Himp i
41 4 1400/:BE3H #7m (6) 15.54 41 7 13278 BE®G) 16.16
$44 1/ FB ¥ 7 mER
5| 3] 1298 =ik #iZ=(6) 16.12 5 2] 1360 Tt BZ=(6) 17.18
W Ut Dt 4% 19+ FERE
6 6/ 1311 KT =1 (6) 16.97 6| 4 1254 5#F 7 (6) 17.91
$/9% b FREEE 7hnk #+ REA
70 2 1256 BT #F(6) 17.30 11 1314 3RR8 £ (6)
WYh HiR #h3 7hY FRIEE DNS
R B
BE +1.2
IE| b-Y| No. K 4 E& o I ]
16 13771&mK BEE®) 13.42
ah% FF3 FARAC REH
2 3] 1280 %L =% (6) 14. 41
7547 3 ALFRC
3 4] 1429=A 122 (6) 14.71
314 -2 Himp
40 5 1281 AT Ei(6) 14. 81
/9% yn 4 ALFRC
5| 7 1296 1532 FF(6) 14.86
vkl ik
6 8/ 1322 F# BE(®6) 15.01
YEHD 13 FaEH
71 2] 12824l 274 (6) 15. 34
415 7%/ ALFRC
8| 1) 1321 #AK EA(6) 15.52
9AER Wk FAEH




INESEE L F

62 58228  [10:20
100 RES 58228 [13:40
m
BB /N A (SR) 12.81 KBE &= SR JAC 2019/8/10
£528% (GR) 14.49 B5i& it BEER E19mE
FiE BBEE T 05 + 8 CIERIEBBE o: %4 LIEEBRE
[ 148] R&E +1.5 [ 28] RE +3.9
IE| b-Y| No. KE & RS ik = | IE L-» No. KE & RS Bk mE
1 4 1284 7% & 5) 1469 q | 1| 6 1283F= wE®) 14.15 q
{b Yy ALFRC 109 45 ALFRC
2| 3] 1420 k@ FiE (5) 15. 61 2| 5| 1418/ 82 (5) 15.56 q
yng Yy HER vy a9h HER
3| 2] 1258)EEE LE (D) 15. 91 3] 4] 1396 & (5) 15.86
MY 23F &I 7 b9 Y/ +t Az
47 1 1366 &= BEG) 16. 00 47 2 1356|@h ZE(5) 16. 36
99730 A3 =H 4th 337 FBE
5| 5| 1440/t #A (5) 16.39 5/ 7| 1363 EH 74(5) 16.87
$345 T VEiE: y39/) 7% =M
6| 6 127548 RE(5) 16.93 1| 1309 T3¢ #t&£ (5)
F)9F 1h3 IR YES 47 ¥ FREEE DNS
717 12531k BE (5) 17.22
an vy mh REE
[ 3] RZE +3.1 [ 448] RE +1.4
IE| b-Y| No. E £ RS ik = | IE L-» No. KE £ RS Bk mE
1 7 1389|%/E b & (5) 1455q | 1| 5 1376/%a @D G) 15. 65
#1317 FEEE Y74 1f RIBAC
2| 4] 1264/ @t 41 (5) 15.27 g | 2| 1 135544 M (5) 15. 80
545 19 BEE 59 W7 FIE
3 2| 13I8 EA HHTE®G) 16. 26 3 2] 14415 BHEO) 16. 00
ISR FIRAC v ®/h VEiE:
4 5 1266/%E =EG5) 16.59 47 7 1388MAt BEGB) 16. 51
F347 31 IR 5rLG 743 ELEE
50 3] 131775 4568 (5) 17.65 5/ 6 1302/ BEZ=(5) 16.95
Y4 % a7 FIt #4149 1+ Dt
6| 1] 1300 %O A< G5) 17.84 6| 3] 1274k =2 (5) 17.01
5 F 05 RiE 1975 39 FwEEd
6| 1364 E% E= (5) 7| 4] 1428/#8@ #®Z=(5) 17.04
t/ %33 =M DNS Wi VA Y1ytA. C
[ 58] BRE +1.2 [ 640] RE +1.1
IE| b-Y| No. & RS ik = | IE L-» No. KE £ RS Bk mE
1 2 1394FmM@ B=G) 14.95q | 1| 6 1419|228 &2 () 15.25 q
£34% 4+ e 0 47 HEH
2| 6] 1375 # &I (5) 15.98 2| 4] 1273/ H L #BE0G) 15. 86
MY 7YY FHBAC 1791 $7% R
30 1] 1357 %L/ £=(5) 16.32 3 5] 1277/=2 &L\ (5) 15. 88
) 314 FAE M7 M REXR
47 7 1442]LO B%(5) 16. 51 47 1 1301|2E XEG) 16.10
0 F 93 VEiE: 434 73h RiE
5/ 5| 1252/EK B 5) 17.10 5/ 3] 1437t BA(5) 16. 41
P97 19 R&H $405 19 VEiE:
6| 4] 1427 ;A &% (5) 17.11 6| 2| 1265 % =& 5 17.07
2 745 Y1yEA. C {by 71 IR
T 3] 1417 NE #F 7 (5) 17.85
0 1%/ HER
[ 748] RE +3.7
IE| b-Y| No. E £ RS Bk HE
1 6 1285F% EF(5) 15.20 q
{M 72 ALFRC
20 2| 1320 ®mE %75 (5) 15.77
ng nt FAEHR
3 1] 1278]mII EE () 16.06
1¥07 34 REHXE
4 5 1395BA £S5 G5) 16.07
LA D, t Az
5/ 7] 1310 &4 #(5) 16.26
Yy 453 FRIER
6| 4] 1438 LB FnfE=(5) 16.63
B3V Uht VEiE:
70 3 1347 &K B=(6) 16.78
{73 74 FEEE




INEBEERF
100m

R B
AZE -0.2

JE| b-¥ | No. K £ RA ek EE

1 5 1283 & R (5) 14.65
1y 435 ALFRC

2 4 1349 &tIE b (B) 14.88
405 17 [iiE=$lin:]

3 6 1394 E@A #ZE () 14.94
£35 #+ e

4 3 1284 FE #w (D) 15.13
1M Yy ALFRC

5 T 1419 =iF 1= (5) 15. 41
W0 L7 FE

6 8/ 1285 {#ik EF () 15.49
1M 33 ALFRC

7 2| 1264 H 413 (5) 15.56
4th a9 k-3

8 1] 1418 /i 1&% (5) 15. 62
vy aoh HEH




INEAE R T

Fi& 58228 9:45
100 RE 58228  [13:35
m
EHFE/NFEAFE (SR 12.81 KHg &% R JAC 2019/8/10
£508% (GR) 1451 RE B FRiEm %36/
FiE BBEE 8 055 + 8 CIERIEBBE o: %4 LIEEBRE
[ 148] & +2.6 [ 248] E3E +1.5
I b-2] No. K -k 8k WEE | E| V-V No. K 4 -k &k RE
1 1 1397 £@E #=4) 16. 50 1 3 1203/ FiF(4) 16.92
175 4+ t AR VAV R E R R
2] 6 1339|F# EE @) 16.54 20 1] 13300 #71E @) 16. 95
IVh7 1t m/NEF 0 F agh FiEm
3] 7] 1335/ FRE (4) 16.56 3] 7 1305|&FA & 4) 17.35
thay mwh FHEE LYY VAR Dt
4 5] 1404/t #H7E(4) 17.62 4 4] 1255/l IBF(4) 17.36
150" 3 /% xE th¥e Y3 FiR
5/ 3] 1344|&RB Wi 4) 18.03 5 5| 1449 8 REMH @) 17.93
hant 4 i3] 319F 19t HHHTFC
6 2 1416k B8R A) 18.40 6 8 1384/B)I 3k (4) 18.03
VIR ] HEH Y309 hYy EXEE
70 8 1381[ikH# W @) 19.97 70 6] 1411|KTF EZ ) 18.29
#94 akn Bk /98 /v R
8| 4] 1433[dc# EBH @) 20.56 2| 1362[k1L HhE (4)
445 1z Eik 347 12 # =H DNS
[ 348] EiE +2.3 [ 48] REZE +2.2
I b-2] No. K 4 -k B8R WEE | E| V- No. K 4 -k &k RE
1] 8 1137 =ik ®WE 4) 15.87q | 1| 2 1261 E@ &) 15.99 ¢
Hh Wb FE R N34 MER BEIR
20 2] 1251|=28 B% 4) 16.19q | 2| 7 1410 AT EZ®) 17.23
NevalVIUR RE /95 Ut R
3 4] 1304 AEE Ex@) 16.52 3| 3] 133 F HEF®@) 17.57
Vi L Dt LT 47 % FHEE
47 5] 1383[8RE BHE 4) 16. 61 4] 5] 14054t/ #1E (4) 17.83
149" % E3) HFH 407 jun Et
5/ 7 1263|EZE RE®@) 16.70 5/ 1] 1290|m@ #n7E (4) 17.84
1547 I3 €= Flin VAN R E R R
6 1] 1406|=fE £ @) 17.00 6 4 1382 BB H1E@4) 18. 21
by oz Et NN T1h HFH
706 1332 W& BF(4) 17.48 71 6 1318|AE FKE @) 18.63
nz1y 74Y FHEE T Fi FEHEH
8| 3 1409 Jii@m = (4) 17. 51
1793 HIV =iz
[ 58] X +2.7 [ 648] FEE +1.8
JE b-2] No. K 4 -k 8k WEE | IE| V-V No. K 4 -k &k RE
1 5 1250 E@ B0 @) 16.20 g | 1| 3 1306 HE #£3E @) 16.13 ¢
b3 IHh RE ya k1) af ik
2 6 1392/dtkE Bt @) 16.31q | 2| 7 1345t BF ) 16.53
05 Wt e th5= v/ FaEIAR
30 1] 1292 W BB (4) 16. 44 3 1] 1333|EH BE @) 16. 86
7Y vE 33 R E R R kR4 794 FHEm
41 7 1262 &b HHB B @) 16. 46 4] 5 1201/h#k BEH @) 17. 21
NITYY 370 BEIR N Yy Wk A E R
5/ 2] 1319[HER #E 4) 16.69 5/ 6 14074t/ =45 (4) 17.42
yary #5 FHE R ng =t Et
6 3 1353/l #3 @) 17.88 6 2 1391)/h#k &< Y (4) 17.58
hvY 41 FBE vy 3y RS
T4 1420 BEF@) 17.99 T 4] 1436 FH E2 4 17.71
Y Y3 R £31 Y3 FH;
[ 748] REE +1.6 [ 848] X +1.3
JE b-2] No. K 4 -k B8k WEE | IE| V-V No. K 4 -k &k RE
16 1430M% EEW® 16.24 q | | 1 10 1434k EBE (4) 15.57 q
(VIS HEemp A ¥y 3 FH;
2 4 143582 M@ 16.52 2 2] 1289 FK HIE@ 16. 46
THI3 Y 1y FE 7 EEh R E R R
30 1] 1399[#K —7E @) 16.70 3 4] 1398 ® BAS (4) 16.87
AR ¥ 4Fh tAR NG TEK AR
4] 2 1294 &K &< 5(4) 16. 71 47 3 1432]=E BEWX) 16. 88
YYNER U, HE R 9 tt FomEp
5 3 1331/ #HEE (4) 17.50 5 7 1393 K[ =% 4) 17.08
WhY YA R nath 744 Lt
6| 5 1354[dhiL K@) 18.04 6 6/ 1408 BE #ME @) 17.35
Thie M FBE W/ 7 Et
7 1415/ 2@ @t @) 70 5] 1286 /hE HEE (4) 17.63
h35 Eh FE R DNS 1545 1Y7 =R




INEAER T
100m

R B
AE +3.4

JE[ v-v] No. K £ RA ek EE

1 6 1434 /h#k =ik (4) 15.30
¥y 3 FH

2 3 11371 &k BE @) 15.86
Hh Wb FE R

3] 4] 1306|HE #xE @) 15.97
yak1y af DI

4 8 1250/ E@H &M (4) 15.98
b3 IHh REF

5/ 5 1261|[E@ £&F @) 16. 01
N34 MR HER

6 1] 1430 o4t EER @) 16.02
(VIS HighEs

7 7 1251 =iF BXx4) 16.13
NvalVIVH REME

8 2| 1392|dt/" Bt @) 16.15
405 v e




INE5 -6 R T
1000m

RER/NFERE OR)

103.46 i Hhha

3
3:10.00 &48 &

=ECEX (GR)
R B
Ji§] ORD | No. K & RA ek EE
10 21 1337 & 3%k (6) 3:14.18
Ny xR FEER
2 71315 /11 0 JR (6) 3:25.44
00 4 FEER
31 19 1336 FFE #(6) 3:31.08
YE8 47 14 FFEm
4 1 1380 BR F#3%(6) 3:31.25
hol F13 fFABAC
51 15] 1257 F& BE (6) 3:41.32
YEY Y 11% FiR
6 23 1379 {2 M (5) 3:44.48
7947 a4 1FABAC
70 11 1423 &@A & (6) 3:45. 06
AV 333 EEH
8 3 1421 bt BEZ () 3:45. 36
Thh3 Y7t FE
9 13 1268 k(1L F%E(5) 3:48. 84
My # IR
10 20 1279//h#k 2K (5) 3:55. 86
'y 744 Efy o $R 0 iRRC
11 16 1368 KB =:iF (6) 3:58.07
1137 33 =H
12 9 1424 HQ1lh Ek (6) 4:00. 67
W ¥ EEH
131 100 1367FK 555 (5) 4:02.19
Y3 9337 =H
14 14 13854 #i(5) 4:06.02
NZ1 YL RHFH
15 18 1386 =i HFE 1 (b) 4:08. 24
95 734 RHFH
16 2 1387 7k 1B (5) 4:12.42
1M tf L)
171 22 1276 =ik /Mg (5) 4:16.12
#4b an REE
18 6/ 1288 KT #&(®5) 4:22.10
/94 19 ER
19 17 1316/ EK FEIE(6) 5:26. 91
43% 40N FRER
4 1299 kR &£ (6)
Th' 3 a9h Diist DNS
5 1422|[7 #HEF (6)
Ny IR % M DNS
8 1365 k1L 3F4 (5)
I XM =H DNS
12| 13038 F #£= (5)
Y4 1s DIk DNS

bizg)
DL

[(RES

[6A228

[13:10]

2004/5/1
££30E



INEE T

A 2 KA

E TR /NS 5767 (SR) 214 AK fHE B RAGAC
2542 (GR) 1451 88K 3K T
P
Fon - E % % 80mH HJ ""JE?\;EE
1324 $5K 31k (6) 14. 59 (+0. . 17718 K&
AF M FHE 848 930 1
1323 f'E =1E (6) 16. 38 (+2. 1 . 1345
TAIY 3h FHEH 542 803 2
1403 /DK EE£D (6) 16.35(+2. 1 . 1293
vy o xE 547 746 3
1340 tR=E £ (6) 17.93(+0. 1 . 1138
44h 7Y T /NE 277 861 4
1351 %3 B#0(6) 20.11(+2.1 . 853
Thnt E3Y [i=$iea] 50 803 5
1390 R & IEtH (6) 19. 01 (+0. 1 . 781
14¥°3 )3 X5k 93 688 6
1267 [lUT FTE (5) 19.19(+2.1 . 750
Y5 U =3NS 62 688 7
1338 ;th £ %4&4& (5) 20.00(+0. 1 . 680
1513 31 EEd 50 630 8
1287 1845 #1428 (5) 18. 98 (+0. 1 . 671
ISV =8 98 573 9
1370 1l £ 12ZE (6) 20.40(+0. 1 . 623
hIhs 4v% =H 50 573 10
1369 KT #E (6) DNS DNS
115 77 =H DNS

2019/8/10
2021

2022/ 5/22



INEZFIUN {VF A

(REE FE228 ] 8:45]
80mH
RHE/NFEEERE (SR 12.57 K FFE B FRAAC 2019/6/23
[ 18] RELE +0.1 [ 248] RLE +2.1
JE| b-v| No. K 4 E& ik = | IE L-» No. K 4 E& o I ]
1 41 1324 #5K 3K (6) 14.59 1 5 1403 /1% EE4D (6) 16. 35
AR F M EE R 848 vy 74y xE 547
2 1 1340 k= % (6) 17.93 2 1 1323 & =7t (6) 16. 38
14hn 79 /M 271 THY 3h ickzd 7} 542
3 5 1287 125 #4 (5) 18.98 3 20 1267 IUT 347E(5) 19.19
AVRVES =B 98 Y394 h FIIE 62
4 2 1390 fRE i (6) 19. 01 4 31 1351 ¥ HF(6) 20. 11
EVAENE HFH 93 Thnt E3Y Fa&EIAR 50
5 6 1338 it &&®5) 20.00 4/ 1369 KT %= (6)
1Fh° 3 92 =zt 50 Tty 77 =H DNS
6 3 1370 JIlL 1% (6) 20. 40
h7hs e =H 50
[ win® /5L
el
=
RHE/NFEEERE (SR 1.384tfR /hE fFABAC 2015/10/25
N St o - E £ FEL 1"11182(21 m85 | m90 | m95 [ 1m00| 1m05| 1m10] Im15]1m18/ 1m21 2 EE
1 11 1324 £5K ZFik (6) - |- - |- 0 0 0 0 0 0 1.21
ARF M FHE XX 930
2 4 1340 BR=E £ (6) 0 0 0 0 0 0 0 0 XX 1.15
1448 7Y /& 861
3 6 1323|FE =1t (6) - |- - 0 0 0 0 XX 1.10
TAIY 3 FAEH 803
4 5/ 1351 #FF B(6) - |- |- o Jo [xo o |xx 1.10
T7hnt E3Y m&EEm 803
5 9 1403 /M #k E£D(6) - - xo 0 0 |X0 |Xxx 1.05
RNVl e 746
6 8| 1390/fRE IEtH (6) 0 0 0 0 0 XX 1.00
VOMALE BRI 688
70 10 1267 luTF HFE(5) 0 |0 |Xo X0 X0 |xx 1.00
Y5 U =]l 688
8 7 1338t L£E®O) o 0o o Jo |xx 0.95
103 va =izt 630
9 2 1370 JIlE 1% (6) o 0 |0 XX 0.90
h7hs he% =H 573
100 3| 1287188 #1142 (5) o xo o |xx 0.90
VNVRVE] EE 573
11 1369 KT %= (6) DNS
v 77 =H




INE& T
a1 > KB

E TR /NS 5767 (SR) 1988 M 407 FHTALFIIA
£708R (GR) 1575 &1l B & tAR
V-]
Fon' - E £ R4 LJ JBT %JE!'EIE

1373 ik & (6) 3.43(+1.8) 36.75 1541
g 7y {RHARAC 734 807 1
1269 4t & &= (6) 3.49(+1.4) 29.75 1414
¥y v 11 =S 750 664 2
1402 &iE 1EZHE (6) 3.16(+1.3) 30. 62 1340
Y9 Ev0Y xE 658 682 3
1374 KA 1L\ (5) 3.45(+0.1) 21.57 1237
15 3w fRARAC 739 498 4
1341 =8 =0 (6) 2.91(+1.9) 26.92 1195
9y 73 m/hE 588 607 5
1342 ia]g Wk F (6) 3.00(+1.3) 24. 61 1173
144 #33 TN 613 560 §
1425 &8 #ib (5) 2.98(+1.3) 22.95 1134
b’ 73 HEH 608 576 7
1450 A& 1L (6) 3.13(+2.1) 19. 88 1114
fF 9 EHTFC 650 464 8
1325 s 24 (6) 2.84(+1.6) 19. 17 1017
o4 § 738 FEEH 568 449 )
1270 FF %%E (6) 2.92(+2.1) 14. 35 942
YEI 45 Tht =311 591 351 10
1401 L 02 (6) 2.18(+0.8) 21.79 887
Lh4¥3 7% FB 384 503 1
1326/ )11O 3=%0(6) 2.48(+1.0) 16.97 873
75 F 39 icEzd] 468 405 12
1348 dt[R F4£F (5) 2.78(+1.5) 11.57 847
403 M3 [ig=$lica] 552 295 13
1350 #a@ =% (5) 2.53(+1.9) 13.09 808
s 3/ [i=$liea] 482 326 14
1389 BJIl FEE3F (6) 2.26(+1.7) 12. 31 116
Y707 19} R 406 310 15
1346|fR1F =£ (5) NN 10.58 325
1497 h ak3 [icE=$lin: ] 50 275 16
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INEZFIUN 4V} B

GRIB [5E228 [ 9:00]
TEiE Bk
(2]
EHE/NSETE (SR) 4.75 4L/ tkER FIRAC 2014/10/18
B Gz S Fon - K 4 g4 -1- -2- Gk "E

1 4] 1269 & =% (6) X 3.49 | 3.49 (+1.4)
Y'Y H)IIER +1.4 750

20 8 1374 KE L5 G) 3.41 | 3.45  3.45 (+0.1)
i FIRAC +1.7 0.1 739

3 14 1373 i = 6) 3.43 X 3.43 (+1.8)
) FIRAC +1.8 734

410 1402 &E WEE1E (6) 3.16 | 3.12 | 3.16 (+1.3)
¥ ey e +1.3  +1.0 658

5 9 1450 A& LE5 (6) 3.09 | 3.13 | 3.13 (+2.1)
ISV HEHTFC +3.0  +2.1 | 650

6] 3 13427 BEHHF (6) 3.00 | 2.91 | 3.00 (+1.3)
hd #3a m/hE +1.3 +2.9 613

7| 15 1425/%&8 @i (5) 2.21 | 2.98 | 2.98 (+1.3)
pAp° 73 % +1.8  +1.3 608

8 13 1270 FF &E(6) 2.90 | 2.92 | 2.92 (+2.1)
YE§ 43 Thi H)IIER +1.2  +2.1 | 591

9] 1 1341/ 2L (6) 2.91 X 2.91 (+1.9)
S /N +1.9 538

100 12 1325 & 4 (6) 2.48 | 2.84 | 2.84 (+1.6)
Yoy % 73 7K +1.3  +1.6 568

11 16] 1348 4t/ HF£F(5) 2.78 | 2.06  2.78 (+1.5)
403 M3 (i =Pl +1.5 | +1.2 | 552

12 6 1350 #AE@ = (5) 2.47 | 2.53 | 2.53 (+1.9)
Wi 3/ &R +1.1 +1.9 482

13 2 1326 )10 =51 (6) 2.47 | 2.48 | 2.48 (+1.0)
179 F 39 7K +1.9  +1.0 468

147 1389 @Il EiE%H (6) 2.26 | 2.21 | 2.26 (+1.7)
Y307 94 Qs +1.7  +0.7 406

15 5 1401 @l #12 (6) 2.18 | 2.01 | 2.18 (+0.8)
INEadvr) FR +0.8  +1.6 384

16 11 1346 fRiF == (5) X X NM
1498 3k3 =3l 50




INEZFIUN 4V} B

R [5H228  [11:00]
T4 L 4 g
Y eN YyhiE -V
EBE /N AIE (SR 46.82 BB $5K FIE 2019/8/24
W B - K& B - - & WE
115 1373 & = (6) 36.75
B 7y {RIRAC 8.75 | o 807
2 8 1402 &2 1EEIE (6) 20, 62 30. 62
37 1269 ;gq % = | i %
=% (6) 29.75
4 12 1341 #99;7; G) IR L 5
38 210 (6 26.92
YR, TN o 2692 007
5 9 1342 A BT (6) o 246 2461
A %ﬂ #31 : NG : 560
ERETNG) 22.95
han 73 GFd) 2295 | o 526
7 4 1401 FL F0E (6) 21 79 21.79
L4403 7% FB ' X 503
8 13 1374 AE DB G) 21 67 21.57
5 3 R HRAC ' ° 498
9 6 1450 AE & (6) 19.g3  19.88
IS ZHHTFC X : 464
10 5 1325 ks s (6) 1917 19.17
ya¥ § 738 [ifd ] ' ° 449
1110 1326 IO 271 (6) o 1697 16.97
19°F 39 FEH : 405
12 11 1270 FE %3 6) i 1435 14.35
VES 43 ThE Il E X : 351
13 1 1350 M =# (5) 13.00
W8 3 & o 13.09 e
14 2 1389 @il F:2% (6) 12 31 12. 31
Y507 93 HFER ' X 310
15 16 1348 4t/= F4£F (5) 1 57 11.57
£403 #3 i pigc) ' ° 295
16 14 1346 851F == (5) 1058 10.58
RES &L ° : 275
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